- N )
c |, S
StK URIE N 58| =
O —~~ M -— .m w
QO £ — |z O g N
1 z [2 o
25 & :
- I
UNON
< @
=8 &
@2 o
N :8 *
SISy 3
25|10 a
= Ce L 8
o ..
H 2 20 P ¢ | <
38 23| Z2 = a | =
N © ) < ) o — =) > © 3|8 85 N 51 =
be) @) D @ oo el
2.8 .8 3 B . B R B 8 R o SRRl N RS EHE
t 1+ T+ —— + vva) BHGEE— t 1 T ——+ + HO5E—T4L056 mm%MNZ W [ 7]
- /9y 1 0c0gz 1+ L2052 8 s|g 825 % o|N
e a = m =% (Ww I (0
© < 3 T3 .
o <3 a2z zzlZ2 o] O O 135|o
= x| 3 o | —
L 29°9 +s0cz + 22057 ) o.%slggilo @l O O lz|8
c w clz =2 DI (=)
U.WO% NH%SS,LZOE R o
— 3388 m“na 3oFls g = L
S cx 3 wox = [
- 09°C 1 9L0£Z - 8£:0£Z S:ao |ZE 02|28 oz o g
Sy [FOSSFEEza | O o
M 0 > (/)] P+ | Z2 ao W —_ R
ot 229358 sz = ~
Cendoml | | £§2%5 [SESSE|222|Q W
IV +8L0s2 +2L0sT J& o N sS85 |0 W Ll
oe B8 E (&) N ou
3 nze83 92 - N
A = 9
x2S |@w o8 FE@ = o
‘ o P Dl.lnM.O.aIv, LEQQ..V.. ,mmz o 9]
VYT S P - 6£°C 1 08°0£Z - S#0£Z w39 |aa8sx? 88 s
6l 152662 1 £2°65Z S2°2 o o079 g2 | X )
Q87 & ==x8 o 3
> = .. L. =
o~ 3 = = 5 S|z
- €07 1 28087 05057 3 g3 T 2 2 218
Q P W | ol m 3 = <
< o N | =
- G/l T co% + 9657 ¥z mm & x S|y
- /'L %8082 1- SL < “ 8| - 2 m u w
e | E
X %]
4w 4w w £ _._W._ G N o
] . B . Q i = o = O ¢ S&
I8 - 00°0 - 68'%5Z - 28'%52 - S - 00°0 - 98°05Z - 6£°052 - ¢ z o LS8 .88
S —d =
o3 =3 S @ 3 E WZ(Ssns| | &
= o g ur 0 Z|28=<| x| &
0 = ~ %} s @) LE | 2 X
) 17 =] o) 2 ES<s|l G| W
z w M wl S X % ~ 5| x =
2 s o] o = >18 9N 3|2
S z 3 o 7] W a @ T o
LG/ = £8%£2 + 06%£Z - -G/ | —- 08052 ++ ££0£Z -
f -68°'7—+ r0°552 + 20°6¢7 -
FG8'C——1 99'62Z + L£05Z m
€
F
=, =
32 £ e
S = 2
S n 0
o < <
-69°G— SL°05C 1- SL 052 >8R
o83
£8%S3
k%)
- 5§55
~~—
. . ) [ N T
ﬁw“ + “v_rw“ “m_uu“ “u_..u“ i< 9\\.,% 62657 mu“ “m’u“ + “%“ +—+ “mu _n._v...% £9°052—] g
Q Q < ] Q| B < N N J| & S
] =] C
3 S 5 3 S & S
o o
(<] o (V]
QO [y o pmv. [} [}
s | | B 3 | % | B
3 & < S & &
M N = 1= D [« =) 0 N ©
My M
RN R X N 006 £01€2 N N N S N )
' ' ' C Toousz L ] e B A B 666 04888
~N © © < . 288 90'1£2
o) M My M My
N, N LN, N N _apa .
T ML LI ML T VU O LAR-23%
- G8°9 1 80052 + £0°1£Z
- 8¥°C + L2822 1 ¥Z'822
- GV 1 £0°1£2 1 50°I5T - G8'C 1 1§12z 1 62822
— b 997 + 4L%5Z + 66%£Z - - G/'L + 9v'8eC + 61822 -
F G/l L6521 (852
(=)
%S .
J8 - 000 + 25822 + €822
ay
8 8 =
52 IS
& - 000 + £0'66C ++ £85C - I8 - 000 + 6112 1 bL'1£Z
an 3o
+ +
S (=]
-G/ ’|— 9v'82¢ 1 82'62Z
FG/ = £6'%£Z + 68%£Z - FG/ =+ £11£Z 1 10°1£2
99 C— LL¥EZ - 98952 - .
-G8'C— 1622 1 91'82Z
-G8'C—1- 6105Z 1 L¥ 05T
FECC—1 L1922 1 #1822
F61'G— 1 #0052 1 ¥L05Z
Ny “m_:u“ “uw“ e o, 04952 m“ * “%“ “%“ “%“ “% u,\.\,.m 2822
Ny Q) N S 3
N ~ N N ~N a N ~N N N N 3
PP A S s nno czcez R~} — 2 B S W
Samars s e o 968 SZGEZ 3 S S © ¥ o
— O
ST S T N S| s | 2 S |2
QO -2 [ [
3 S g S £ S 3 3 S
) g & & & & 3 N 5
s | S| S | & | & S | & | &
s (5] (3]
he] N N ©
S [a% [ M N N N N
N, SN SN SN N _ann .
T ML T I T Uu o or
N © v ~- M M N ~ (=) (=)
M M My M My M M M M N
2. .ﬁ_/_. .n_/_. .n_/_. .2 20°Q $Z:CCZ 2. .Q. + .Q. .Pi. .2 00°Q ValaldTat 2
T T T v v are) L4 -2 17 N I T 1 T UU O ZZL I ZU
- 02/ 1 ££°162 1 ££°162
- I£°G 15922 1 15822
L 60°G + 9r0cz + £6187 - G8'C < /8/2Z | 9%'82Z
L 6Z2°¢ + wigz + 02152 I G/l < 18'82Z - +S'82Z
o - 997 02662 + ¥£°6£2 -
[=]
. 8
- 4 b 4 * . w = .
SL°L T ovsee paesie 9s L 000 -t 99922 + 95922 -
8%
+
(=] (=)
%S %S
_ L rren L osecr L 1evcer L rnen L eerer L novter )
mm 00°0 + 9v6cZ 1 1£7562 Lm 000 + £5'1£Z 4 0v'Ig2 L/ -+ 182z + 1592z -
(=) S
-G/ | —- 0¥'66 + G£'6£C - FG/ =+ 9v'is2 1 ¥£71£Z
-G8 °C— £8'/2Z 1 05822
- F99°C—— 02°65Z - 14657
F01'G— 1 ££822 1 ££82Z
-G8'C—1- 2502 1 26052
/
\ -0l 'G—1 20152 1 20°1£2
—_ e 1 n 200 2000
m. ..%. .%. g .Mw Crwlo £5-8¢—|
Q M N N N
S
31|t
o 0 [}
‘S S -~
+ ——+ ——+ 1 N FaVakie) oYttt + +——+ P TS S N + YaVal/o] . Do
NG & S X .7u v vare] £99EC S ﬂr_ 1t =Lt 3 [V B+ £ m m
M = M o~
S R R R Rz R ] X R §|3 2| 3|8
B S g 3 S S = = =
ES) o S S o )
S s} -~ S S -~
= 2 2 T S S
S o BS] S S RS
(%} (oY (0N (2} [0 De
B, N N ps, N N = R & X N L
o |« | « S |« | & ST T PN\ FEL\ FRTUIL S
- o~ . o T L = L L t oUo 66°88¢—
~ ~ R R N
N N N N N on sz
LR I 1 1 T UU o LT
Q N © 1o ~-
M M M M M
~N ~N N N N .
; — —— — ¢ 66-8 +6657—
- 8€°C +68'82Z 1 69'82Z
F19'G + 1152 1 12152
- G8'C +0z'922 1 L8822
- G8C 88057 1 69'£Z )
- G/ +{Sl62z + L1892 -
- 997 88662 + 00952 - - G/l + 28152 + ££71€Z
S
. . . >SS
- 4 4 4 v = .
S e JR - 00°0 - i2'62Z 1- 86'922 -
g 33
3 =
J8 - 000 + 98162 + 9L°18Z
[<) X
S S
= .
m._w F 00°0 + v1'95Z + £6°6£Z - L6/ 1=+ er6zz 1 co922 -
S
-G/ | — 28152 1 2L°15Z
-G/ |— 80952 1 66°65Z
-G8°C—02'82¢ 1 25'82¢
- 99°C—1 88'S£2 - 90°95Z
FG8C—- 8805 + 9¥°I£7 - \\
F#0°G— 99'82Z 1 99'82¢
F8C G~ 95°1£Z + 96°1£7
n —l 1 —l 1 n 20°Q
ﬂw. .m. ..m. .%_. N .mu Crwln €9 8E¢—|
N Q S BN N AN
n ] —l —l n FaTalle) )
T — T = T T T 1% var.] £GH6E— he) e S
2N R R R[S BEER:
N N N ~ ~N 3 8 .m 5
s S A S s nn'o oz © — 2 m.w. -
o NS iy b < [V e 9EE S S & S 2 IS
— .
S Q Q N Q 3 2 S5 S m .m. Mv
- . > B [ [ S ac o=
S S S S S S
o o o 7] a8 >
= S e o N N
mw. S Q< Q<
= S S
3 | 3| 8
3 g 3 = =) S @ N
S o o ) ) N N ~N
PINEEL L O M g
~+ M N ~ S
() N
H m H m :-MM ﬂ. ﬂ ﬂ ﬂ H JaYakie) -
+ —— -+ +——+ + B0-8——£5 — 06952 t 1 = L + 56-8 S
- GG’/ 1 85°95Z - 16°95Z
- GF'9 - 66952 + £6°9£7 - - 9%'C - Lz'62z + LZ°6CC -
- 9C°C +29°96Z - S6°9¢2
- G8°C +£5822 1 1£622
- GZV 1 99°95Z - L6962
F LS 1 0L952 + 00462
— - 997 + 817z + ovZEZ .
99¢ - G/l +8v622 1 61'62Z
Loz L aece t arocz - A XA A A A
(=)
%3
IR - 00°0 + #5622 1 ££7622
8 g °3
] B3 F00°0 S f =
13 - 00°0 - 28'9£7 + 0£'92 m._% 22 + 97262
Q
W S
-G/ ‘| — 8’622 1- ££7622
LG/ = 9L°952 + ¥8°9£Z - -G/ | — 1 6£25Z 1 ££T5C
N 69— Lv'2cZ 1 LhT5T
L£6°'7—1 00452 + 00452 - -G8 ¢ ——- £6°82Z < 16'82Z -
F#£'G—1 61622 1 61'62Z
—_ L 1 n 20°Q LY
ﬂw m .m. .%. .7nl/ r\rwle hvmWT
N N N N N 3
—_ PRI —l n 20:Q G
+ ——— it ——— + FaValis) y1y7.y ] T T T T T h T U0 g © o~ S
T R R B Bla T B 8 & 8|3 S| 8|8
Q 2 Q o Q| 8 N N N N S S -2 S 2
3 |5 | 8 3 1% |68 Sl e
S I o S & K] S S
3 | S S s | S| = 3 NS
S 3
O © © nm.r IS IS S = &=
< S S S S S
S RS RS (%] D D
2| 8| & S | & | &
S Q= Q=
~ S D Lo} N
M M N N N
TPt P P —66 +
e} ~ ) N ~—
(o) o N © [¥s) e ) M M M
e M M M ) N N N N N .
N, N N N LN anQ L0007 - = ——+ + 068 OFE5E
T 1 1 1 T L7 V] [=g=14
- 18°G +#8'62Z 1 ¥8'62Z
\
- 81'9 +oL/£2 1 04452
- G/ 'Y {62452 + 2L /5T - G8°C - 99'9¢cC + 28'62¢ -
F 897 + Lecg 1 1eET )
M L 671 1+ g6z + 187622
F G/l +#%0€6Z 1 £0°€5T
xS
L_m - 000 + /8622 + ¥8°622 -
S Q
S =8 x
B3 98 L 000 -+ oreez + o525z -
I8 - 00°0 -+ 9¥2Lc2 + 95252 LW
Q
W S
FG/'|— 19'622 1 /622
-G/ | — 1 0v/£2 1 8£°LET -G/ | —— %062 1 6262
- F99°C— 61462 + /5T - F99°C—-- £8°26Z + S6°76Z
-G8°'C— 98'92Z 1 9622
F09°G—+ 0622 + 0L°62Z
o . . o [058 89627
Q M N N INE
~ N N N 3
PP EP S B S 66-8 29457 SR 006 FOLFE - - S
GHrg ey, 1968 BO® Ry By S | & | &
~ N N N N 3 N N N N © s 8 S X3
8 S g 3 S g g 2 2
S o o o 5 3 S S
2| S| & s | S| 2|l | &
S 3
O © © am.r 2 2 © = &
< (N (N S RS RS
S RS RS (2] Qe Qe
28| & S [ & | &
S [ [
N ~ (=} =2} se]
M ) Q) N N
e J/_ ,“/_ 4_ A 068 S+OFZ—
© 0 ~ \2) N
S D [se] N © e e M M M
s My N~y ) M N N N N ~N .
N, N N N N e ———+——+ +—— +——+ + 008 £O¥9EE
T T T oU o \"( ==~
- 28°G + LL0SZ 1 £1'0£Z
I G8°C + 61622 + 9002
F LIS 267252 1 L6452 // F vl 1 L0582 1 L0752
4 F G/l + #L0sZ + clogz
F /L' + 68452 + 8642
- G/l +69¢€£Z 1 88°€5Z
[=]
%S
L_m F 000 +020£Z + 11°0£Z -
S Q
S -+ x
83 98 L 000 +szecz + cre0z
18 - 000 - 96252 -+ 68452 - 28
Q +
W [~
: -G/ | — 1 v1'05Z 1 §6°62Z
FZL'|—— s64c2 + £846T
-G/ | —- 69€£Z + 08°€£Z -
-GS T— #6152 1 68°/5T \
. 267~ 26%5Z 1 2657 .
-G8°C— 61622 1 89'62Z
/90— 26452 1 06'£57 - \
F/8%—1 16°/£Z + 06££Z - F19°G—- $00£Z + $0'0£Z -
F£1°9—1 69452 + 06462
. . . " P N N PR N FaValial o
F61°/—- 88£5C + 68452 - mw__ T _3_ % o 968 56622
< N < BN N| 3
. . il . . Anca . . +————— +——+ +—— + 068 96-757—| . >
R TTR TR TTR T S 8 % 8 X3 lEl|E
N Q 2 Q Q| g N N N N N[ o 2 s S
o . S .w ‘S 2 mlw. [ [
S S) S K o S I I3
[s) g Ke] o S = RS ©
s S S S S = & o a3
mlw. ) [ pmv. 2 2 S & &
[~ c c S RS o
S RS RS (%] [0 (oY
218 & S | & | &
S [ [
S () © N © © e} ~+ M N
<+ M M M M M M M My M
2. .ﬁ_/~. .n_Z. .n_Z. .2 200 1..$NI 2. ..rﬂ_. .ﬁ_/_. .n_/_. .2 20°0 CLbOZ.
N T ML ML T U o TF T T T U O TJLVZIC
N ~ (=) (=2} Lo}
o) ) Q) N N
~ ~ N ~N N .
+ +—— +—— +—— + 8.9 OF-0F5F—
- 9/°G + 0v'0£Z + 0¥'0£Z -
" pg T BV0SZ T 0¥0EZ 1
- G8°¢C 1 9v'62Z + 02062
FCLC 14062 1 1L 952 - 0G'C 95052 1 2L'62¢C
F 997 + v1'952 1 62'952
- G/l +¥eeEE 1 2295 - G/l VT T LG ¥ET - CHL o ev08e - #E05C
[=]
%S
— 18 - 00°0 - L¥'05Z - #£°05Z -
(=] Q
xS %S g
IR - 00°0 - 1¥85Z - 2862 - IR - 00°0 - 0v'¥5Z - S¥#5Z
=3 % L00° -+ wosz + ss0sz
3 3
-G/ | —- ¥£95C + 92°952 - FG/ L= ¥£52 + 66¥£Z - .
F§/ ' C—1 25082 1 £6°622
N 99 C—— v1'852 1 92'852
F9L'C— #L952 ++ ¥L¥EZ - -/8°C—1 92052 + 00°0£Z -
\ 82 'G— 65622 1 1£05Z
18 °9— 1 #5622 1 62°052
6%/ —— 16'62Z ++ 920£Z
/
F¥Z Q—- ¥20£2 ++ ¥Z'0£Z -
+ PR P I —l " Valakie) —_— PR —l + FaTalle) . .
T L= S =1 t % v 98¢ LY W 3 LN t v o) 8995 + +——+ ——+ +——+ + i £Z
g 85 8 K 8[TS S 8] 3 R 94 S0 8 & R
N ~ ~ « ~ 2 N ~ N ~ N 3 ~ N ~ N ~ 3
. S . S ]
] S S 8 S S B S g
2| s | = 2| § | = o | §| 8
S| &8 Tlele 2 e |
[~ < c
2| 2|3 88§ AR AN
S & S S & S I & &

GL91XL6C



	Sheets and Views
	23-1_2022_DL54_POPRZECZKI-5.2


